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UPCOMING ONLINE BATCHES
April 2022

06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

13 April 2022

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

11:30 AM to 01:30 PM

BANK ONLINE LIVE CLASS

(English & Bengali)

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

05:30 PM to 06:30 PM

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

20 April 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS
(English & Bengali)
01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022

(ENGLISH SPEAKING COURSE)

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL
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Mohit.. 19 hours ago
Thank-you madam for this Amazing Class Session of today's.. o S
And
My answer for today's Homework is like-
J(Birkin)..
Read more

b &P REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Manan 19 hours ago

Homework for today is-
J(Birkin), M(Kelly), K(Clutch), N(Hobo), I(Duffel), L(Saddle).
Thank-you ma'am for today's Nice class.. (28 (22

b R REPLY

v View reply from Mahendras : Online Videos For Govt. Exams

debasish chakraborty 21 hours ago

Homework :
M - Kelly J - Birkin L - Saddle | - Duffle N - Hobo K - Clutch
Thank you mam. Awesome session.

b &R REPLY

* View reply from Mahendras : Online Videos For Govt. Exams

Rahul Bhakat 13 hours ago
Clockwise -

J (BIKRIN), M(KELLY), K(CLUTCH), N(HOBO), |(DUFFEL), L(SUDDLE)

Read more

@b GP REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Sudipta Bhowmick 11 hours ago

Homework....Ans....
N(hobo), K(clutch), M(kelly), I(Duffle), L(saddle), J(birkin)....

THANK you @ (25 maam
fy GP  REPLY

* View reply from Mahendras : Online Videos For Govt. Exams

& Aarohi Modi @ 21 hours ago

J (Birkin) , m(keli) , k(clutch) , I ( deffle), N ( hoba), L(sandile), o

b P REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams
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Sonam Pundir 20 hours ago

Hw
M kelly. K clutch. N hobo. | duffel. L saddle. J berlin. 0 Uma Bharti 21 hours ago

{y GF REPLY b &R REPLY

v View reply from Mahendras : Online Videos For Govt. Exams /LT L L P e S LB AL e e 2 el

Nabanita De 20 hours ago m Mahasweta Patra 12 hours ago
H.W-M-kelly,J-Birkin,L-Saddle,l-Duffle,N-hobo,K-Clutch.thank u ma'am. N-hobbo, K-clutch, |-daffle, L-saddle, J-birkin, M-Kelly

Y GF REPLY b &R REPLY

v View reply from Mahendras : Online Videos For Govt. Exams /LT L L P e S LB AL e e 2 el

: ot b
Mahasweta Patra 12 hours ago o IEEE AL A T 2

e N hobo | duffel L saddle J bikrin M kelly K clutch

e acde gy &R REPLY

oy &R REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams
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BE afad- 1, J, K, L, M, 31T N IR #or I e
Y 3 7T FF 15 ¥ 3 BT TFR & $91-
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safed & 910 & guY T W do71 ¢ it giat dar 1
T ¢ 3T Ig ITFa 3 FelT ST FT 39919
m%,ﬁmmﬁljw@ma;m
Yor ot FAF e dord T A s A A
T SR HIAT | ATAY ) IT M Felt T

AT & | N FeAT HT ST Al FIAT |

Six persons- |, J, K, L, M, and N are sitting on the
circular table facing the center. They are using
different types of bags- Birkin, Kelly, Clutch,
Saddle, Duffel, and Hobo but not necessarily in
the same order. L sits second to the left of the
one who uses Hobo bags. The one who uses
Hobo bags and the one who uses Clutch bags are
immediate neighbors. J sits opposite to the one
who sits immediate right of I. J neither uses
Hobo nor Clutch. The one who uses Birkin sits
second to the left of I. The one who uses Saddle
sits immediate left of the one who uses Duffel. L
neither uses Duffel nor Kelly. Either J or M uses
Kelly. N does not use Clutch.

; e el
| =00 .
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Six persons- |, J, K, L, M, and N are sitting on the
circular table facing the center. They are using
different types of bags- Birkin, Kelly, Clutch,
Saddle, Duffel, and Hobo but not necessarily in
the same order. L sits second to the left of the
one who uses Hobo bags. The one who uses
Hobo bags and the one who uses Clutch bags are
immediate neighbors. J sits opposite to the one
who sits immediate right of I. J neither uses
Hobo nor Clutch. The one who uses Birkin sits
second to the left of I. The one who uses Saddle
sits immediate left of the one who uses Duffel. L
neither uses Duffel nor Kelly. Either J or M uses
Kelly. N does not use Clutch.
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L K
Saddle Clutch

I
Duffel

Who among of the following person sits
immediate right of I? A. The one who uses Birkin
B. The one who sits second right of K C. The one
who sits immediate left of L D. The one who uses
Hobo E. K

Which of the following bag does K use? A. Clutch
B. Hobo C. Duffel D. Kelly E. Saddle

Which of the following combination is true? A.
N- Clutch B. K- Kelly C. J- Birkin D. M- Saddle E. I-
Hobo
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L

Saddle

Clutch

Which of the following statement is true? I) M
sits second to the left of the one who uses
Saddle Il) K sits immediate right of 1 lll) | uses
Duffel A. Only Il B. Only I and IlI C. Only IlI D. Ali
I, Il, and Il E. None of these

Who among the following person uses Hobo
bag?

A. The one who sits immediate left of L

B. The one who sits second to the right of M
C.K

D. The one who sits third to the right of |
E.N
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WOQi#a A B,CD, E’FaﬁTGW
et ofea o 43 ¥ aiky 3% e ) 3
3r;ala%glia;almaﬁﬁ;wmﬁ
g1 & et caferdl & i A gt 4
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Seven persons A, B, C, D, E, F and G are sitting
in a straight row and facing north direction but
not necessarily in the same order. Distance
between two adjacent persons is 4m. G sits 8m
towards the left of A. G does not sit on the
extreme end of the row. E sits towards the
right of A. Distance between G and E is at most
16m. Only two persons sit between F and C. B
sits 4m towards the right of F. Distance
between B and D is not 8m. C does not sit
towards the left of D.

. |
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Seven persons A, B, C, D, E, F and G are sitting in a
straight row and facing north direction but not
necessarily in the same order. Distance between
two adjacent persons is 4m. G sits 8m towards
the left of A. G does not sit on the extreme end of
the row. E sits towards the right of A. Distance
between G and E is at most 16m. Only two
persons sit between F and C. B sits 4m towards
the right of F. Distance between B and D is not
8m. C does not sit towards the left of D.
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What is the distance between E and D? a) 16m b)
4m c) 8m d) 20m e) 12m

Final arrangement:
D G C How many persons sit towards the right of the

one who sits 4m to the left of F? a) Two b) One c)
Three d) Four e) Five

What is the position of A with respect to C? a)
8m to the left b) 3rd to the right c) 4m to the
right d) 2nd to the left e) 12m to the left
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Final arrangement:

D

G

C

Four of the following five are alike in a certain
way as per the given arrangement and thus form
a group. Which of the following one does not
belong to that group? a) DC b) AF c) EB d) GE e)
AG

How many persons sit between G and B? a) One
b) As many persons sit between D and F ¢) Two
d) Three e) As many persons sit to the right of G
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Ao afFd-E, F, G, H, |, J, KIRLTH
A& qfee & 3a¢ faem i 3R 377"
Q1T @2 ¥ A e Ts Adt s A A
gl H ) F T A NN TAFTREGSIE I F
am‘?sﬂtm@ma’raqﬁ?rm}%l H&
arft 3T WS A fFaal FY HEATF F 91
Y @S ITFAAT 1 T&AT H T S g
G I$ A WSTE H. F 3R H F g oda
AT GIHNEFAT@ITIK LFSH A
GO T W EST 8 | 31t K v
St g 2

Eight persons—E,F, G, H, 1, J, Kand L are
standing in a linear row facing the north
direction but not necessarily in the same
order. H stands third to the right of J. At
least two persons stand to the left of J.
The number of persons standing to the
right of H is one more than the number of
persons standing to the left of F. G stands
to the right of H. As many persons stand
between F and H as between G and E. K
stands second to the right of L. | and K are
not immediate neighbours
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Eight persons—E, F, G, H, |, J, Kand L are
standing in a linear row facing the north
direction but not necessarily in the same
order. H stands third to the right of J. At
least two persons stand to the left of J. The
number of persons standing to the right of
H is one more than the number of persons
standing to the left of F. G stands to the
right of H. As many persons stand between
F and H as between G and E. K stands
second to the right of L. | and K are not
immediate neighbours
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How many persons stand to the right of L? a)
One b) Five c) Four d) Two e) Three

Which of the following statement(s) is/are true?
I) Only one person stands between L and K

Il) F stands immediate left of J

lll) | stands end of the row

IV) E stands to the left of F

a) Only (l1) and (1) b) Only (1) and (IV) c) Only (I)
and (ll) d) Only (l1) and (IV) e) Only (l), (1) and
(1)
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If all the persons are arranged in alphabetical
order from the left end, then how many persons
remain unchanged in their position? a) One b)
Two c) Three d) More than three e) No one

Four of the five among the following are similar
in such a way to form a group, which one of the
following doesn’t belong to that group? a) lJ b)
FEc) LK d) IG e) HG

If J and L are interchanged in their positions then
K and | did the same, with respect to the new
positions, who among the following person
stands third to the right of E? a) The one who
stands immediate left of Fb) Fc) Gd) | e) The
one who stands second to the right of G
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&H Ifed & WATIGR 9iedar 3rgTa 9fea 1 3%
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Ten persons sit in two parallel rows i.e. row 1
and row 2 with five persons sitting on each row.
Five persons face north and rest face south.
Each person sitting in row 1 sits exactly
opposite to each person in row 2. Row 1 is in
south direction of row 2. Z sits third to the right
of Q. Z sits opposite to the person who sits
immediate right of O. O faces north. D sits
opposite to the one who sits third to the left of
M. Z face the opposite direction to Q. Only
three persons sit between Q and P who sits in
row 1. L is an immediate neighbour of both O
and D. S sits second to the right of the person
who sits opposite to D. R sits immediate right of
N. R faces the same direction as O. S and L face
the same direction as Q.
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Ten persons sit in two parallel rows i.e. row 1 and
row 2 with five persons sitting on each row. Five
persons face north and rest face south. Each
person sitting in row 1 sits exactly opposite to
each person in row 2. Row 1 is in south direction
of row 2. Z sits third to the right of Q. Z sits
opposite to the person who sits immediate right
of O. O faces north. D sits opposite to the one
who sits third to the left of M. Z face the opposite
direction to Q. Only three persons sit between Q
and P who sits in row 1. L is an immediate
neighbour of both O and D. S sits second to the
right of the person who sits opposite to D. R sits
immediate right of N. R faces the same direction
as O. S and L face the same direction as Q.
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How many persons sit between L and R?
A. Two B. Three C. One D. None E. None
of these

If R is related to Q, N is related to M then
i nthe same manner Lisrelatedto _ ?
A.ZB.PC.OD.DE. None of these

Who sits immediate right of the one who
sits oppositeto S? A.LB.RC.D D. NE.
None of these
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Which of the following statements i s not true?
A. S face the same direction as R B. R sits at the
end of the row C. D sits opposite to P D. O sits
immediate right of L E. All are true

) Which of the following is true regarding M? A.
M sits at the end of row B. M sits opposite to R C.
M sits immediate left of S D. Both a) and c) E.
None is true
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Eight persons—-P,Q,R,S, T, U, Vand W are
sitting in the square table such that all of
them are facing towards the center. Four
persons are sitting in the middle of the sides
of the table and four persons are sitting at
the corner of the table. All the information is
not necessarily in the same order. P sits
second to the left of V, who sits at one of the
corner of the table. W sits either to the
immediate right or to the immediate left of P.
S sits opposite to the one who sits second to
the left of R. R sits in the middle of the sides
of table. S is neither the immediate neighbor
of V nor P. T is the immediate neighbor of

either of P or U, but not the both. Q sits
* second to the left of U.
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Eight persons—-P,Q,R,S, T, U, Vand W are
sitting in the square table such that all of
them are facing towards the center. Four
persons are sitting in the middle of the sides
of the table and four persons are sitting at
the corner of the table. All the information is
not necessarily in the same order. P sits
second to the left of V, who sits at one of the
corner of the table. W sits either to the
immediate right or to the immediate left of P.
S sits opposite to the one who sits second to
the left of R. R sits in the middle of the sides
of table. S is neither the immediate neighbor
of V nor P. T is the immediate neighbor of
either of P or U, but not the both. Q sits
second to the left of U.
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In which of the following combination both the persons
are facing towards each other? A. URB. WS C. PQD. TV E.
RP

Four of the following five are alike in a certain way and
hence form a group. Who among the following person
does not belong to that group?

A. S

B. The one who sits to the immediate right of V

C. The one who sits second to the right of W

D. W

E.Q

Who among the following person sits opposite to the one
who is third to the left of Q? A. The one who sits to the
immediate right of W B. P C. W D. The one who sits to the
immediate left of UE. T
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Who among the following person sits opposite to U?
A.V

B. The one who sits second to the right of P

C. The one who sits third to the left of S

D. The one who sits to the immediate left of R

E. All of the above

If all the persons are arranged in alphabetical order in the

clockwise direction with respect to P, then how many

persons remain unchanged in their position (Excluding P)?

A. 1

B. 2
3

C.
D. More than Three
E. None
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Eight persons-P,Q, R,S, T, U,V, and W are
standing at the square table such that four
persons stand in the corner and four persons
stand in the middle of the table. They are all
facing outside of the table. All the
information is not necessarily in the same
order. T stands third to the right of W who
stands at the corner of the table. Only one
person stands between W and S.V stands
third to the left of P. P and W are immediate
neighbours. The number of persons stands
between V and S is the same as the number
of persons stand between V and U. Q neither

~ stands adjacent to U nor V.
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Eight persons-P,Q, R,S, T, U,V, and W are
standing at the square table such that four
persons stand in the corner and four persons
stand in the middle of the table. They are all
facing outside of the table. All the
information is not necessarily in the same
order. T stands third to the right of W who
stands at the corner of the table. Only one
person stands between W and S.V stands
third to the left of P. P and W are immediate
neighbours. The number of persons stands
between V and S is the same as the number
of persons stand between V and U. Q neither
stands adjacent to U nor V.
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Who among the following person stand opposite to
Q?

A. W

B. The one who stands second to the right of V

C. The one who stands immediate left of U

D.P

E.T

Who among the following person sits middle of the
table?

I. The one who sits immediate left of R

Il. The one who sits oppositeto T

lll. The one who sits second to the right of P

IV. S

A.Onlylland IV B. Only Il and lll C. Only lll and IV
D. Only I and Il E. None of these
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If all the persons are arranged in alphabetical
order from P in clockwise order, then how many
persons remain unchanged in their position
(Excluding P)?

A. None B. One C. Four D. Three E. Two

How many persons sit between S and T when
counted from the right of S?
A. Three B. Two C. Four D. One E. None

Who among the following pair of persons are

immediate neighbours?
A.UWB.SPC.VRD.TUE. RQ
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Twelve persons are sitting in two parallel rows.
The personsinrow 1-B,D, E, G, |, and K are
facing towards south and the persons in row 2 -
A, C, F, H,J, and L are facing towards north, but
not necessarily in the same order. The person,
who faces D, sits third to the right of A. Only
one person sits between A and H. G sits second
to the right of B, where neither of them faces A
nor sits on the extreme ends of the row. C sits
on the extreme end of the row but doesn’t face
D. Only one person sits between L and F, who
neither sits adjacent to C nor A. K sits to the
right of | but neither faces C and L nor sits on
the extreme ends of the row.
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2°

|
s
- ,
, 4‘


http://www.mahendras.org/

SBI CLERK 2022 / /@mat 11:30 AM/

Twelve persons are sitting in two parallel rows.
The personsinrow 1-B,D, E, G, |, and K are
facing towards south and the persons in row 2 -
A, C, F, H,J, and L are facing towards north, but
not necessarily in the same order. The person,
who faces D, sits third to the right of A. Only
one person sits between A and H. G sits second
to the right of B, where neither of them faces A
nor sits on the extreme ends of the row. C sits
on the extreme end of the row but doesn’t face
D. Only one person sits between L and F, who
neither sits adjacent to C nor A. K sits to the
right of | but neither faces C and L nor sits on
the extreme ends of the row.
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Four of the following five are alike in a certain
way and thus form a group as per the given
arrangement. Which of the following one does
not belong to that group?a)Db)Cc)Fd)Ae)E

How many persons sit to the right of I? a) One b)
As many persons to the left of C c) Three d) As
many persons to the left of H e) No one

Who among the following person faces A?

a) D

b) The one who sits to the immediate right of |
c)G

d) The one who sits second to the left of E

e) None of these
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How many persons sit between J and the one
who faces D? a) One b) Two c) Three d) Four e)

No one

If E is related to A and B is related to F in a certain
way, then who among the following person is
related to L?

a) The person who sits to the immediate left of K
b) The person who sits to the immediate right of E
c) The person who sits to the immediate left of E
d)D

e)BothC&D
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